AR ERICETISIL R (ERFEFR)EENRNR

ER24F1~11BXR#E

B A& B B
FlsEI0 fa %k Uo1KY | BBEER |F— (%] BEEE | fShsl | ELhol | BERTH| - & Fro B
FERR A5
" TER244 68 9 7 0 1 5 5 12 13 3 0 0
BEREE ggoaE 74 12 8 0 4 2 3 11 13 2 0 0
R TR 244 45 7 5 0 1 3 3 3 4 7 0 0
ERRFE 5 roas 43 8 4 0 2 0 9 2 3 3 0 0
a ERL24 4 81 9 6 1 1 2 12 6 11 8 0 0
AR T 7T 74 5 6 0 5 5 8 3 8 0 0 0
" 244 27 8 6 0 0 1 0 2 2 1 0 0
FRFE oar 40 8 3 0 2 0 5 6 6 0 0 0
g T Ak TR 2445 141 10 3 0 5 4 21 11 20 11 0 0
EHFE I FRoak 226 33 12] 1 13 1 22| 29 50 8 0 0
T 24k X 362 43 27 1 8 15 41 34 50 30 0 0
1~118 =z 4,427 514 337 24 100 108 797 423 471 228 14 8
EER (%) 8.2% 8.4% 8.0% 4.2% 8.0% 13.9% 5.1% 8.0% 10.6% 13.2% 0.0% 0.0%
T 235 E K 457 76 33 1 26 18 47 51 80 13 0 0
1~11H & 4,751 630 337 13 203 141 776 372 653 80 13 11
LB (%) 9.6% 12.1% 9.8% 7.7% 12.8% 12.8% 6.1% 13.7% 12.3% 16.3% 0.0% 0.0%
B ERICEITSXZXTEANSRGEHRREERMNA
ER24F1~11 B X B &
3 = E 5 8% &
B % (KEEE) | AN % (BEFELH) | # % (MEFH) | A & (BEL) | 4 ¥ (FEFEHE) | A #  (FEfFLH)
Rk FERX 0 EED) 0 (£0) 1 (£0) 1 (—1) 30 (—8) 38 (—3)
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